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Question Number : 1 Question Id : 4509387041 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

: s s cog LD wq f 2 ;
The range of the real valued function f(x) = Sin l(%)-l—ﬂes 1(?;) is

£

; ; L Y o i o
f(x) = Sin™ (—1:"“ ) + Cos™ ( & ) O TR NTO NDODO TE) a5
X L

14x2 2

Options :

)

’l . .



="/2."/>}

Question Number : 2 Question Id : 4509387042 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The real valued function f: R — E m) defined by f(x) = [2x + 1] +|x — 2] 1s

F) =12 +1] 4 |x = 2| P A 3D0HDE f: R — B,Cﬂ)&j‘*@&ﬁ PO A0
Options :

One-one function but not onto

!

@ 58 1DNONO 5°Q SO0 5°¢H

1. %

Onto function but not one-one

HOR (HDOHO 57 9 $¥0 5°C
2. ¥

Bijection

& 5HED |HDADO
3. %

Neither one-one function nor onto

@ 58 000N 0 57D DOHN [HDIDOAHO 5°CD



Question Number : 3 Question Id : 4509387043 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

1f1354357+579+ nterms=nn+1)f(n) —3n. then f(1) =

13543574579+ - ndtred =nn+ 1)f(n) - 3n ©ONS 1) =

Options :

9
1.¢

11
2. %

12
3, #*

3
4, %

Question Number : 4 Question Id : 4509387044 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
: I 2 o
H34=|2 1 —=2| and AA" =1, then— 4 — =
a 2 b

¥ &= 2
34 = [2 1 —2] BN 44T = I ©ONS, 2 + E =
a 2 b

Options :

1.



13
6
2. %
13
6
3 %
4. &

Question Number : 5 Question Id : 4509387045 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
a+h+2c a h
c b+c+2a b =
c a c+a-+2b
Options :
(a+b+c)?

2(a+b+c)?
2.

3(a+b+c)d



(a+b+c)

Question Number : 6 Question Id : 4509387046 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Assertion (A): If B is a 3 X 3 matrix and |B| = 6. then |Adj(B)| = 36

Reason (R): If B is a square matrix of order n, then |Adj(B)| = |B|"

Q36565 230 (A): B A 3 X 3 138 B0 |B] = 6 ©0NS, |Adj(B)| = 36

S¢E20 (R): B ©RE) nod G eS| 57|38 @ond, |Adj(B)| = |BI"

Options :

Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(A) A0 (R)&) O Q€950 0B (A) 308 O )G (R)

Both (A) and (R) are true but (R) 1s not the correct explanation of (A)

(A) DBO (R)&0 O €350, 5% (A) B308) BN DB (R) 5D
2. %

(A) 1s true but (R) 1s false

(A) D550, 5% (R) €9:96550
3. v

(A) 1s false but (R) 1s true

(A) @650, 5% (R) ebo



Question Number : 7 Question Id : 4509387047 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
(1-i)% .

5

(2—-i)(3-2i)

1—i)° - ¥,
07 RBng) ¥ 36b 2resn
(2—i)(3—2i) i

Imaginary part of

Options :

22
65

65

22
65

Question Number : 8 Question Id : 4509387048 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The square root of 7 + 24i

7 + 24i Q305 Qo0

Options :



4 — 31

1. %

Ll o
2. %

3 —4i
3. %

e 1
4.+

Question Number : 9 Question Id : 4509387049 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

2n

Ifnisanintegerand Z = cos @ +isinf,0 # (2n+ 1)<, then =
= 2 1 ZZH

5 B | 1+Z2"
n 28 ygo0ms OO Z = cosf +ising, 6% (2n + 1) SONS,- =

ZZR

Options :

[ tan nfA

i cotnf

—itanné



—i cotné

Question Number : 10 Question Id : 4509387050 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

xZ-x+1

If x 15 real and @, § are maximum and minimum values of respectively thena + f =

x24x+1

)
T , Xo=x
1 OO TN 0D OO

G 63 0ot ¥ Dewisen S

x2+x

a,f OOV o+ =

Options :
10
3
1.4
8
2. % 2
4
3
3, #®
4. %

Question Number : 11 Question Id : 4509387051 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



If  is a common root of x> —5x+1=0and x> —8x — 24 =0 (A # 0) and f, y are the other
roots of them, thena + f +y + 1 =
x2 =51+ 1=0o00000 x* —8x — 24 =0 (4 # 0) ©F) G0 DFOO a DO TR

65 XTETEN B,y OONB a +f+y+4 =

Options :

0
1. %

o
2. %

1
3.¢

2
4, ®

Question Number : 12 Question Id : 4509387052 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The equation x* — x* — 6x% + 4x + 8 = 0 has two equal roots. If &, f are the other two roots of
this equation then a? + f2 =
o6+ 4820 8D ADIUETIE T Srered dsrey. &

NaDEea0 QR0E) @it Bk SFere ¢, f &) oS, a? + f2 =

Options :

4
1. ®



-1

Question Number : 13 Question Id : 4509387053 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The condition that the roots of x* — bx? + cx — d = 0 are in arithmetic progression is

B-bt+or-d=0 O DTS Mo Sreren woYIAS GOGrNE
Q0.
Options :

9ch=2b%4+27d

9¢ch =2d3+27h

9cd =2d3+27h

9cd = 2b%+27d



Question Number : 14 Question Id : 4509387054 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

There are 6 different novels and 3 different poetry books on a table. If 4 novels and 1 poetry book
are to be selected and arranged m a row on a shelf such that the poetry book 1s always in the

middle. then the number of such possible arrangements 1s
2,8 202 6 D058 SI0e) OO 3 IT 40 A5 YATED GTL0N. 4 SN
S80I 1 5 HEID JoNE T 28 SHIS 28 NG D ©HBYB. HSs

VG OIET DS GOTELIT NOTHS B ©HOE Hows

Options
270
1. #
180
2. %
3 % 540
1080
4. &

Question Number : 15 Question Id : 4509387055 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

If a five digit number divisible by 3 15 to be formed using the numbers 0, 1. 2, 3. 4 and 5 without

repetition. then the total number of ways this can be done is

SES BROE 0. 1, 2, 3, 4 HBAN 5 20D Fehedr 3 T 2rfodad e

G036 HODLD DOIFTONR0E), AR TOHON ©R) TS DOPS



Options :

w120

144
2. %

192
3. %

216
4.

Question Number : 16 Question Id : 4509387056 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Four digit numbers with all digits distmct are formed using the digits 1. 2. 3. 4. 5. 6, 7 m all
possible ways, If p is the total number of numbers thus formed and ¢ is the number of numbers

greater than 3400 among them. then p.q =
1,2, 3. 4. 5 6. 7 903000 D) ©0%eN {0 T[0T 0PI
T8I 9 AT dEIETE. ©erols HoDsON0RE p HOCL TS

3400 $0T) DEB A0DSON0DS ¢ OB p:q =
Options :

3:2



Question Number : 17 Question Id : 4509387057 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
If the ratio of the terms equidistant from the middle term in the expansion of (1+%) is

1 : i $19 .
o (x € N) then sum of all the terms of the expansion (140) 2 is

(x € ) OO (141) 2808 DG D 5 S HOG HSPIEPG0S &)

v W 1 ; L1 g M o "
30Ch T E‘\);’ag@j—ﬁé ©0DS, (14) 2008 S Q ©) He) Fno
Options :
412 or 61‘1

312 or 512

i ) )
612 or ?1‘

Question Number : 18 Question Id : 4509387058 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
i+l

(1+0)(1-2)

In the expansion of . the sum of the coefficients of the first 5 odd powers of x 1

rl

T B8, ANGRS BASrEOD EORS I 5 5070 Hease) Indo

Options :

5 8 5 -
o alE —1)

1. %

5 8(45 0

TR
2. %

B 3w

Fg—

3. %

5 8

i _'4,'-1‘4_1

3+12(' )
4, %

Question Number : 19 Question Id : 4509387059 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



5 x+2 _Ax+B+C.\'+D+Ex3-I-sz—l-Gx—l-H
(2 +3)(x* +x2)(x2+2) x2+3 x2+42 xt+ x?
then (E+F) (C+D) (4) =

xf 2 _A.¥+B+CJZ+D+EI3+FX2‘|‘GI+H
Pt L1 P43 el R

©ON®, (E+F) (C+D) (4) =

Options :
1
1. % 4
3
2. % 4
3
4
3. %
1
4. ¢ :

Question Number : 20 Question Id : 4509387060 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If A, B, C are the angles of triangle then sin 24 — sin 2B +sin 2C =

A,B,C e (€322 §eren) @O sin 24 — sin 2B + sin 2€ =

Options:



4cosAcosBsinC

4dcosAsinBcosC
2.

4cosAsinBcecosC — 1

4sindcosBsinC

Question Number : 21 Question Id : 4509387061 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Assertion (A)If A=10°B =16°C = 19° then

tan 2A tan 2B + tan 2B tan 2C +tan 2C tan 2A =1

Reason (R): If A+B+C = 180°, Cot f + Cot % + Cot % = Cot gcm §C0t %

Which of the following 1s correct?

Q2969 830 (A): A = 10° B = 16°,C = 19° 90N

tan 2A tan 2B +tan 2B tan 2C + tan 2C tan 2A =1

< _ W I A, B_ €
5060000 (R): A+B+C = 180° @00 Cot ~+Cot ~+ Cot — = Cot ~Cot ~Cot -
%1800 IS DO HOTSE?

Options :

Both (A) and (R) are true and (R) 1s the correct explanation of (A)

(A) D80 (R) &0 TOCT 8500, (A) G305 8 @00 DD (R)
1.¥



Both (A) and (R) are true and (R) 1s NOT correct explanation of (A)
(A) DA (R) &0 BOGT Ded5a, (A) B30 8900 0883 (R) 5°C0

2. %

(A) 1s true, (R) 1s false

(A) €553, (R) €9:3685230
3. %

(A) 1s false, (R) 1s true

(A) @850, (R) D€85000
4. %

Question Number : 22 Question Id : 4509387062 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

- o 1. L
If o is in the 3™ Quadrant, f is in the 2% Quadrant such that tan « = -, Sil f= =% then
sin (2a 4+ ) =
i 1 b
tana ==, sinf = — LD, @ IPChS SFBOS T, B BO SFS0S S 0D,
v

sin (2a + ) =

Options :

3 x 10
2

\
5

3

e
it
=



25-\;‘"5
3. %
V10
3 ¥2h
4. %

Question Number : 23 Question Id : 4509387063 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Number of solutions of the trigonometric equation 2 tan 26 — cot 2641=0 lying in the interval

[0,7] 1

2tan20—cot2841=0 ©F (BFDSH VLTI 0,1 oGS &0

IO 0D
Options :
2
1.8
3
2. %
4
3.¢
5
4, %

Question Number : 24 Question Id : 4509387064 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The real values of x that satisfy the equation Tanx+Tan'2x = E 18

Tan lx+Tan12x = E QDeDEBETR chod DO x TIVE) TPed NIV

Options:
—34+/17
1. % o
—1+/3
2. %
V3 -1
3. ®
wﬁ — 3
4.+ %

Question Number : 25 Question Id : 4509387065 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

= Vs = 1 ) Y
2coth*(4)+sech (5)—
Options :

log 5
1.4



3log2
3. %

| 5

G —

3
4, ®

Question Number : 26 Question Id : 4509387066 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If 7 and 8 are the lengths of two sides of a triangle and ‘a’ is the length of its smallest side. The
angles of the triangle are m AP and ‘a’ has two values aj and a satisfyng this condition, If aj< a)

then 2a;+3a; =

2,8 (#2020 GIE) 00 2D FEHen 7, 8 DO TR §x) 2020 &Pcha) ‘o,
B2H20 Y, Seren AP S &m0 0 & JaNITY) ST a § e

TOCD aeNeN a QBN 4, 1< 1 l“:%(l‘l}@ Jatim =

Options:

15
1. %

21
2. &

24

3. %



Question Number : 27 Question Id : 4509387067 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Y A ABC JiFE 13 B S e ==
1 o | 5 all ; > _‘lfﬁ 1211 211

C 3
AABC S a=13.b=14 08050 cos~=— 90N 211 =

Vi3

Options :

28
1. %

A
2. %

S
3. ¢

ZA
4. %

Question Number : 28 Question Id : 4509387068 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

In AABC.if (15 —ry)(r3 — ry)=2ryr3 then 2(r + R) =

AABC &S (rs —11)(r3 — 1r3)=2r513 0N 2(r+R) =

Options :



a+b

1. %
e s |
2. %
e C— A
2*~.-’2Rccas( )
2
3. %
- B—C
Z'u'ZRCDS( )
. P
4.

Question Number : 29 Question Id : 4509387069 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

If i—2j 4 3k, 2 + 3;’—?, —3i-j - 2k are the position vectors of three pomts A. B, C

respectively. then A. B. C

i—2+3k 2143 -k —3i—]— 2k 00 SONT A, B, C &3 S0P Do) T

NOTES, ©92))¢0 A.B, € &0

Options :

are collinear points

HB0H DocHHEN

1. %

form an isosceles triangle which 1s not equilateral

02TV 2320225500 TR e §27T0 (€32927°R) S YT o
2. %



form an equilateral triangle

QeI (320270 G Yo
3.v

form a scalene triangle

DAD2FTV (32927, DB IOTON
4, %

Question Number : 30 Question Id : 4509387070 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Ifa b, ¢, d are position vectors of 4 points such that 2@ + 3b + 5¢ — 10d = 0. then the ratio
in which the line joining  and d divides the line segment joining @ and b is
20+ 3D +5¢ - 10d = 0 @ADL d5d) TN DoY) T DN T b, ¢, d

o

OB, @) ¢, d O $02 B @, b 0 0 TP DOTR) DIL0T A1)

=

Options :

2:3
1. %

—1:2
2. %

2:1
3. %

3:2



Question Number : 31 Question Id : 4509387071 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Ifa b, ¢ are 3 vectors such that |a] = 5, ‘E‘ =8,|¢l=11and @ + b+ =0 then the angle

between the vectors @ and b 15

b =8,

b, & o |a] =5,

[=]

I

ITREEIENT &5d) 3

o )

¢l=11 OO a+b+d =0 ¢
NOFES, TnBAN b O sdehsie S0

=

Options :
§2
Cos lg
1.4
Cos—12
11
2. %
Cos™122
- 55
T
4.% 3

Question Number : 32 Question Id : 4509387072 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Angle between the planes 7. (12? + 45 — 3%] =5and . (5? 1374 4?) =71

7. (12i + 4j — 3k) = 5 B0 7. (5i + 3] + 4k) = 7 dere> Hdgiie S0

Options :



Question Number : 33 Question Id : 4509387073 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The shortest distance between the skew lines

e (ZE—E)H(?-I-ZH andr = [—ZIT+E) +5@—}—Bis

7= (2i-7) +e(i +2k) OAW T = (-2 + k) + (i - ] - k) 0Rra)es o> oocss e
£ B0

Options:
3vV2
V7

1.+



3
wﬁ
3.

"

4
\eﬁ

Question Number : 34 Question Id : 4509387074 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The coefficient of variation for the frequency distribution is
Xi

4

3

1

Ji

1

3

5

Xi

4

/i

1

Lh

R Y

Options :

w]

g

2

g D500




3V2
3. %
100
=
av V3

Question Number : 35 Question Id : 4509387075 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

If all the letters of the word ‘SENSELESSNESS’ are arranged in all possible ways and an

arrangement among them 1s chosen at random then, the probability that all the E's come together

in that arrangement is
‘SENSELESSNESS' 305 @) @800 FrOieR) dprer ©:0),
TE3:008 2,8 @00 ATFCIDIE0T Jot0D), & B85S Een &) 0

2,856 GOGERE e S0ardsed

Options :
1
990
1. %
2
143
2. &
1
120



. w 429

Question Number : 36 Question Id : 4509387076 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

If two numbers x and y are chosen one after the other at random with replacement from the set of

number {1,2,3 ...,10}. then the probability that [x — y?| is divisible by 6 is

7 & o & 5
$0aPS D (12,3 .10} HOB, B 0D BBA HWMBS DS T
OSPCIY 50T TO HODIEN 1, ¥ O 28T Sared HOBNEE JotHFoD),

12 = v} @30 63 2rfoNacserad fo doarsd

Options :
- 25
6
25
2. %
3
10
3.¢¥
13
50



Question Number : 37 Question Id : 4509387077 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Bag A contains 3 white and 4 red balls, bag B contams 4 white and 5 red balls and bag C contains

5 white and 6 red balls. If one ball 1s drawn at random from each of these three bags. then the

probability of getting one white and two red balls 1s

J0D A S 3 BOR 200 4 NI 20KHEF, H0D B S 4 BOA HOOW 5 B
2007 B0 0D € S 5 BOR sHOD 6 B 2OBIOF &7, & Jr
H0NOS 158 T D08 255 208 AFGYDIEOT SRIYID, 28 BOD

0B TOh | OR 20O FOERS (10 D0ZTged

Options :
268
693
1. #®
310
693
2. %
38
99
3. %
26
63
4.

Question Number : 38 Question Id : 4509387078 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Two persons A and B throw a pair of dice alternately until one of them gets the sum of the
numbers appeared on the dice as 4 and the person who gets this result furst 15 declared as the
winner, If A starts the game. then the probabulity that B wins the game 1s

A0 H50e 4 DO B, 28 236 FDEOMD 280 ST HEFED &8 PO
DB D0DIO I 4 ST SO BITD Hoo & HOTR), O
00 9580 TODND FAM™ (NS¢, G5 88D aMOT 4 Incien PGS, &
s6¢S B ROT Hoersseh

Options :
11
| 23
1
2
2. %
5
3 % i
8
17
4, ®

Question Number : 39 Question Id : 4509387079 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



An urn contains 3 black and 5 red balls. If 3 balls are drawn at random from the urn. the mean of

the probability distribution of the number of red balls drawn 1s

2,8 BS 3 IO HOAM 5 AT o) ow. & e Hod AFGyREom
3 20008 20005 &7, SO 0D 20O 0§ GNE) 0TI
D2FE) OI8) @03 a0

Options :
45
| % 28
15
2. ¢
2
3. % 2
4, %

Question Number : 40 Question Id : 4509387080 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

If X ~B(5,p) is a binomial variate such that p(X =3) = p(X = 4). then p(|]X - 3] < 2) =

p(X = 3) = p(X = 4) @THIOET X ~B(5,p) 2.8 O 53¢ DIBE3 ans,

p(lx-3]<2) =

Options :

1. %



242

243
201
243
2. ®
200
243
3. %
121
243
4. %

Question Number : 41 Question Id : 4509387081 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The perimeter of the locus of the point P which divides the line segment Q4 intemally in the ratio

1:2. where A = (4,4) and Q lies on the circle x> + y2 = 9.1s

A = (4,4) 600 0 ©F DoY) 12 +y? =9 3 Gotran. @) 1:2 AABS

OSP20C Q4 Q @030 2252033 Hoche) P G308 Hohado OO

Options:
1% 81
471



9

Question Number : 42 Question Id : 4509387082 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Suppose the axes are to be rotated through an angle 6 so as to remove the xy form from the

equation 3x2 + 2v/3xy + y? = 0. Then in the new coordinate system the equation

22+ y? + 2xy = 2 is transformed to

32+ 230y +7% =0 9e08880 H0d ry ATON SIS aTOD 28

S908 § 0P 507 BaP IO ODROTTRD. @) 58 QTS S35

472 4 2oy = 2 6% 8680 2 EPH0E Brarosto Tohenod.

Options :

(2+V3)x2+(2—V3)y2+2xy =4
1.¢
(2-V3)x*+(2+V3)y2 —2xy =14

g s y‘z — 2(2 — "\.-"Ig)_l’.y == 4(_2 = xa

2+ y2+2(2+V3)xy = 4(2 +V3)



Question Number : 43 Question Id : 4509387083 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Pis apoint on x + y 4 5 = 0. whose perpendicular distance from 2x + 3y + 3 = 0is /13, then

the coordinates of P are:
x+y+5=0 d:o;) e 2.8 éJJOCfl):g) P ok 2+ 3y +3=0 % e ©oadrdo VI3

90N, P B8] AEFISED:

Options :

(wﬁ —5 — '\;’1—3_]

Question Number : 44 Question Id : 4509387084 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Ford p€R (x—2y—-1)+4(3x+2y-11) = 0and

(3x + 4y —11) + u(—x + 2y — 3) = 0 represent two families of lines. If the equation of the
line common to both the families 1s ax + by =5 =0.then 2a + b =

LueRON (x—2y—1)+A(3x +2y - 11) = 0 DOAW
Gr+dy—10)+u(-x+2y-3)=0 & DarHLN0TOD 0D, Toch

5)EN02FOL &0 T0E) DDEGEI0 ax + by —5=0 ©ONB 2a+b =

Options :

Question Number : 45 Question Id : 4509387085 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If the pair of lines represented by 3x% — 5xy + Py? = 0 and 6x* — xy — 5y? = 0 have one line
in common. then the sum of all possible values of P1s
352 —5xy + Py* =0 OO 6x2 —xy -5y =0 O 0BT daroumen 2.8

0D a0 $OR GO P ) ¢ eaDg @A) De0e) e
Options :

33



2. %
33
_ 4

3. %
j I
4. t

Question Number : 46 Question Id : 4509387086 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Area of the region enclosed by the curves 3x* — y? — 2vy + 4x + 1= 0 and

3t -yt -2y +6x + 2y =0is

Wy -2y +ax+1=0 DB 3E- Y -Zy+br+2y=0 iS00S

DY (200 Q) ITOF0

Options :
3
1. %
1
2.9 %
1



B2 | =

Question Number : 47 Question Id : 4509387087 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

If the equation of the circle whose radis 1s 3 units and which touches internally the circle

x% 42— dx — 6y - 12 = O at the point (=1,~1) is x> +y* +px +qv+r = 0. then

ptq-r=

3 AN argardain HOR (=1, ~1) 2)0e) 3G a3gBeid 12 +y2 — 4x — by - 12 =0

X ©0BEOT 990D H9B0 eSS0 12 +y% + px + qy +1 = 0 ©OVS, €D

il e
Options :

2
1.¢ =

5/2
2. %

26/5
3. %

3
4, %

Question Number : 48 Question Id : 4509387088 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The equation of the circle touching the circle x* + y — 6x + 6y + 17 = 0 extemally and to
which the lines x* — 3xy — 3x + 9y = 0 are normal is
D0 12 4 % = 63 + 6y + 17 = 0 Q) ZPTS0M 930" DO Dpen

x? = 31y - 3x 4 9y = 0 O ODOOVOT GOT SHB0 TE, dadEBEID
Options :

xZ4+y2—3x+2y—-2=0

1. %
x24+yi—6x—2y+1=0
2.
x24+yi4+e6x—2y—1=0
3. %

x24+y2—-9x—-3y+2=0

Question Number : 49 Question Id : 4509387089 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The pole of the straight line 9x + y — 28 = 0 with respect to the circle
x84+ 2y2 -3 +5y-7=01s
N 202 4 252 — 3x 4 5y — 7 = 0 Sals GFOD 9x +y—28 = 0 CIOE) (Fedoind

Options :

1. %



2. %
(3,-1)
4. %

Question Number : 50 Question Id : 4509387090 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
The equation of a circle which touches the straight lines x +y = 2, x — v = 2 and also touches
the circle x2 4 y? = 11
x+y=2 1-y=2 Q0TDOD DA 22 472 =1 HYBeined rE 39303
2,8 B GR08) MbEBeasn

Options :

(e b2 by? =82

1. %

(x+v2)2+1y2=1-22
2. %

(x— w’E}E +yvZ=2(1- wE}
3. %

(x —vV2)2+y2 =322



Question Number : 51 Question Id : 4509387091 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The radical asis of the circles x* +y* + 2gx + 2fy + ¢ =0 and
2x% + 2y% 4 3x 4 8y + 2¢ = 0 touches the circle x% + y2 + 2x + 2y + 1= 0. Then

a2+ y? +20x+2fy+c=0 OO 2x% + 2% +3x + 8y + 2¢ = 0 B ARNFY

S0P @8 1% + ¥ + 21+ 2y + 1= 0.0 )9 3P08. 95 )

Options:
3 sy
= — Qr =
753
1. %
= t :3
2. %
g:—gr}f‘ =
3. %
3 .
gi=i—gpl = 2
4.

Question Number : 52 Question Id : 4509387092 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



If the ordinates of points P and Q on the parabola y* = 12x are in the ratio 1:2. then the locus of

the point of intersection of the normals to the parabola at P and Q is

y2 = 12x JTS00H0 2 ey Dochehen P 8oy Q © Gy y- AEFITeD 12
A8 & 0D, P B0 Q © S5O & STHONFIE e @020 DOt
0L B8NS Do

Options :
i 18(I_ )3!2 -0
X 21 -
1.9
T 6 3,:’2
’—18( ) =10
> 12
2. %

Question Number : 53 Question Id : 4509387093 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



. : : . B P
The product of perpendiculars from the two foci of the ellipse 7 + E = 1 on the tangent at any

point on the ellipse 15
2 2
% +% = 1 & 59eai T8y BOch 200 H0G Ay ) D)

OB 110 60D 2 HDS ©202) ErEane ORai0

Options :
6

1. %

2. % 7

3. % s
9

4,

Question Number : 54 Question Id : 4509387094 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The value of ¢ such that the straight line jomning the pomts (0,3) and (5,—2) is tangent to the
. € .
curve y = ——is
=

(0,3) 00D (5,-2) DohYOD 0% ST, JEsn :é 3% 51602

S0, ¢ BNE) ed

Options :

3
1. %



2.9

3%
2

4. %

Question Number : 55 Question Id : 4509387095 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
The descending order of magnitude of the eccentricities of the following hyperbolas is
A. A hyperbola whose distance between foci is three times the distance between its
directrices
B. Hyperbola in which the transverse axis is twice the conjugate axis
C. Hyperbola with asymptotes x + y+1=0, x—y+3=10
& QDS DS HBITHOTE 98 0[0 HBTETFOTNE; ©e0TE §e00
A 20 D0 Ardan, TR dabe Te ek o ArorRd Srch Ben
GO ST
B. #3035 @98 0. HOOKHMTS S1e58) BE 0T G0T eTO0HM

C.ox+y+1=0 x—y+3 =00 830 IIG0DENT (fe) WedITmIO

Options :
C.A.B
1. %
B.C. A
2. %



C.B.A

ACBHB

Question Number : 56 Question Id : 4509387096 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

If the plane x — v + z + 4 = 0 divides the line joining the points P(2,3,—1) and Q(1,4,-2) in

the ratio [ m. then [ + m 15

r—y+z+4=0 050, P23-1) SO0 014-2) Dodyod O

a b =
Or90@a) Lm )SS D52, [+m =

Options:
1
1. #
3
2. ¢
3. %
4
4. ®

Question Number : 57 Question Id : 4509387097 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



If the line with direction ratios (1,a,f) is perpendicular to the line with direction ratios
(—1,2,1) and parallel to the line with direction ratios (e, 1, ). then (e, §) is

(L,a,) &5 DADOT OB 09 (-1,2,1) HF ANHOE AT 028 ©020T
800 (a1, B) OF ANNOS )T BDE LTSS GO (g, f) =

Options :

{=1;=1)
1%

1,40

(1,1)

Question Number : 58 Question Id : 4509387098 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Let P(xy, v4,2;) be the foot of perpendicular drawn from the point §(2,—2, 1) to the plane

x—2y+z=11f d s the perpendicular from the point @ to the plane and [=1x, + v; + zy.
then [ + 3d? is

P(xy, v1,21) B0 0(2-2,1) Do) H0d x—2y+z=1 &F derdd 00T
Hoond Peadn. @ Dod Serd8 o o ErSm @ HOAW l=x+ ¥ + 2
©ONS [ +3d? =

Options :

1. %



—

2. ®
19
3. ¢
26
4. %

Question Number : 59 Question Id : 4509387099 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

(sin{r{ cos?x) )
lim s

x—0 x?2

Options :

—TT

ra| =



Question Number : 60 Question Id : 4509387100 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

lim
x—1

e+ 254234 ™
y—1

Options :

n(n+1)

2

1.

n+1

2

2. %

2

n
3, #®

n
4. %

Question Number : 61 Question Id : 4509387101 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

yi+x—1 . , .
is continuous at x = 0 then f(0) =

If the function f ()=

Vit+x-1

X

O D00 x = 038 DDN)0 @A £(0) =

fx) =

Options:



1. %
1
2% 3
1
2
3.v
3
4, %

Question Number : 62 Question Id : 4509387102 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
If 3f(x) — 2f (3) = x then f'(2) =
3F(0) —2f (3) = x ©B f(2) =

Options :
1. % 1
1
2
2. ¢
2



B | ~1

4. %

Question Number : 63 Question Id : 4509387103 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

d f1+x2+x*
If—|———
1+x+x2

o ) =ax+b then (ab)=

d 3 ,'2 .'4
E(%) =ax+b @O (ab) =

Options :

(—1,2)
(—2,1)

(2,-1)

(1,2)

Question Number : 64 Question Id : 4509387104 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Ify=sin"'x then(1—x¥y,—xy =

y =sin"1x OV (1 =2y —xy =

Options :
0
1.+
.1
2. %
2
3. %
2y
4, %

Question Number : 65 Question Id : 4509387105 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

If the percentage error i the radius of circle is 3. then the percentage error in its area s

uf o ad W

2,8 598 aPsrdodS BAFS0 3 oS ) FTOL0S B0

Options :
6
1.+
2. %
2



Question Number : 66 Question Id : 4509387106 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
The equation of the tangent to the curve y = x* — 2x + 7 at the point (1, 6) is

y=12%—2x+ 76 HE0 N (1,6) &9 Doy 3G 280D DSBS

Options :

y=x4+5
1.+

b
2. %

2x+y=
3. %

2 Zy=1g
4, %

Question Number : 67 Question Id : 4509387107 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The distance (s) travelled by a particle in time 7 is given by s = 42 + 2t + 3. The velocity of
the particle when t = 3 seconds 1s
28 8600 t D0HOS (NP0 BG0 (8) D s = 42+ 2t +3 TP 33 5ABI,
ONS ¢ = 3 8 SO §ea0 G Sfo
Options :
26 unit /sec

1.4

20 unit/sec

2. %

24 unit /sec
3,

30 unit /sec
4. %

Question Number : 68 Question Id : 4509387108 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
If a®x* + b?y* = ¢® then maximum value of xy =

a’x* + b2yt = ¢® @0 xy OONEY (10x Densd =

Options :

{'.'3

2ab



ﬁZﬂb
2.
43
ab
3. =
o3
Vab
4. %

Question Number : 69 Question Id : 4509387109 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
" 5in® x
J 3 dx =
cos° x
Options :
tan 7x + ¢
1. =
tan’ x
i
f
2.
tan 7x
— =
3. % J



-
Sec’'x

Question Number : 70 Question Id : 4509387110 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

55
dx =
sz-l-l o
Options :
'1'4+'r3 Tan 1tx +
———Tan x4+ ¢
4 3
1. #
el 1] Go et
T—?—FEUE_J- s a5 P
2.
58
I-E-?-PTH.H_II-FC
3. %
"‘-4+'T2 - (x* +1) +
g g e gk
4, ®

Question Number : 71 Question Id : 4509387111 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



(552

=0
Options :

et +c
1. =

E,_Elx

i 1

3

2.

e g
3. 4

3e* +¢
4, %

Question Number : 72 Question Id : 4509387112 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

A o |
f - ix=
x®+1

Options:

Tan *x —Tan *x3 + ¢

1
Tan lx — ETan_l X +c



Tan *x 4+ Tan 123 + ¢

Tan 1x + ETan_l x4+
4, &

Question Number : 73 Question Id : 4509387113 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

J e*(x+ 1)%dx =

Options :

xe* + ¢
1. =

e*x? + ¢
2. %

e*(x*+1)+c¢

e*(x+1)+c¢c

Question Number : 74 Question Id : 4509387114 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



H."r:i x?
[ — e i
5 (esinx+cosx)?

Options :
2 — 1
2+
1. =
4 —1
4+
2. ¥
6—m
6+m
3_%5
8 —m
8+m
4, %

Question Number : 75 Question Id : 4509387115 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

I $ X
— —dx =
o (1— 3'}3f4

Options :



14

5
3. %

16

[ =y
4.4 7

Question Number : 76 Question Id : 4509387116 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

1 S
J (M-'l-[—x-i-x'z—xfl—x +x2) da=
=1

Options :

2
1. #

_,_1
2. %

0
3. v

8



Question Number : 77 Question Id : 4509387117 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

" (|Jx — 3]+ |1 —x|)dx =

41
Options:
1. % *

8
2. %

12
3.¢¥

24
4. %

Question Number : 78 Question Id : 4509387118 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The differential equation formed by eliminating arbitrary constants 4, B from the equation

y=Acos3x+Bsindxis

DD 4 B O y=Acos3x +Bsin3x DOG SOR0NN0 o500 BB WaibO)

Han§tea0
Options :
d?y 2
TV =
dx? ~



d?y

R + 89y =0
2.

d?y

o Oy =10

X

3. %

d?y

dx? y="0
4, %

Question Number : 79 Question Id : 4509387119 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

; d ;
If cos x =~ — ysinx = bx, (U < X < E) and y (E) = (0 then y (E) =
dx - 2 Y \3 “ \6

cos X g — ysinx = 6x, (0 e g) OO y G) = 0 0N y (E) =

6
Options :
443
1. %
— 72
2
2. %
iy
2v3



Question Number : 80 Question Id : 4509387120 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

ﬂr"p' _:ll.-:II + X fﬁ‘ﬂ‘i '||_r
== =y g — =
dx X X
Options :
Fip?
1. =
cXx
2.9
cxd
3. W
cx?
4. %
Physics
Section Id : 450938151
Section Number: 2

Mandatory or Optional : Mandatory



Number of Questions : 40

Section Marks : 40
Enable Mark as Answered Mark for Review and

Clear Response: Yes
Maximum Instruction Time : 0
Is Section Default?: null

Question Number : 81 Question Id : 4509387121 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
The length of the side of a cube is 1.2 x 107 m. Its volume up to correct significant figures is
28 a0 CBEY (98) 2hH20 &Pthe) 1.2 X 1072 m, TR N80 HOTDS 68
QOO HGH

Options :

1.732 x 107 % m?

’|_ )

1.73 x107%m?3
2. %

1.70 x 107% m?®
3. %

1.7 % 10" % m?
4.

Question Number : 82 Question Id : 4509387122 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The velocity of a particle is given by the equation v(x) = 3x? — 4x. where ‘x’ is the distance

covered by the particle. The expression for its acceleration is

SPTR)) AP, & 880 TR0, & 6690

Options :

(6x —4)
1. #®

6(3x% — 4x)
2. ®

(3x% — 4x) (6x — 4)

(6x — 4)?
4, %

Question Number : 83 Question Id : 4509387123 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The acceleration of a particle which moves along the positive x-axis vartes with its position as
shown in the figure. If the velocity of the particle is 0.8 ms™ at x = 0, then its velocity at x =
14mis(nms™)

e +©80 J0ad (Doirdos S0 Ay 5080, T @"éo@ B0 DS
DO SPEENOA. 1 = 0 ¢ $690 WY M0 0.8 ms™! WONS x = 1.4m G TV
o (ms™? OF )

a(inms?)
A

04]

0.2

0 : : ® X (in m)
04 0.8 1.4

Options :

1.6
1. %

|

1.4

0.8

Question Number : 84 Question Id : 4509387124 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The maximum height attained by projectile is increased by 10% by keeping the angle of projection
constant. What 1s the percentage merease m the time of flight?
8 15,2 590 9& 2.8 (D N80 DK (0 AR 10% DODS. TR (NOSPED

5005 R DOMHE T J0h?
Options :

5 %

Question Number : 85 Question Id : 4509387125 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
A light body of momentum ‘P, and a heavy body of momentum ‘Py’. both have the same kinetic

energy. then
(3e553050 B 110) 2.8 BOS 5o OO By’ (950 i 2.8 278 e, Bochy
2.5 fi@edS 508 0t

Options :

P, > Py
1. %



Fy = B
2.

PL = PH

Always Py =2 P,

. DN Py =2 P,

Question Number : 86 Question Id : 4509387126 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
A block of metal 4 kg 1s in rest on a frictionless surface, It was targeted by a jet releasing water of

2kg st ataspeed of 10 ms™ . The acceleration of the block is

4kg | 05:950°9 (10 2.8 S 5 rO} 0B &38800 2 AOVBS &35)0. TR
©% 0 DHR 2.8 2O 10ms™ HAS ER ) 2ke A N9 TN, &3
B & 3080

Options :

10 ms ™2
1. ®

15 ms ™2
2. ®

20 ms 2
3. %

5 ms 2

4.+



Question Number : 87 Question Id : 4509387127 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
; . ; . lgh
A person climbs up a conveyor belt with a constant acceleration. The speed of the belt is J% and

coefficient of friction is " The time taken by the person to reach from A to B with maximum
v

possible acceleration is

ISAS By 5000 BO 3 w8 358 DY B

$30600 28 o). 553006 BY b (T

b

ooty ddw HEso — A wod B § Sif

v

RS0 80303 & 55608 50031 B D 30"
DOEAE I 700

Options :

4.+



Question Number : 88 Question Id : 4509387128 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
A machme with efficiency 2/3 used 12 J of energy in lifting 2 kg block through certain height and

it is allowed to fall through the same. The velocity while it reach the ground is

23 B8 o 28 0HoBo 2 ke O FosdH) 28NG0S 12 T 45D
DTrAoN0D. @8 & B 861 @08 Erdo FENEW. AFOM
DoLY Jo?

Options :

v2ms™1

2ms1

242 ms™1

0.2ms™ !

Question Number : 89 Question Id : 4509387129 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A solid cylinder rolls down on an inclined plane of height ‘h’ and nclination ‘8”, The speed of the

cylinder at the bottom 15
0 e, 9 TS0 ) 2.8 Tende0 DO 28 0 A0 BT 18055

OB, TR0 OCDIDHLFT0 IO TR G

Options :
gh
'E)
3gh
2
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Three particles of each mass ‘m’” are kept at the three vertices of an equilateral triangle of side °I".
The moment of mertia of system of the particles about any side of the triangle is
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In a spring block system as shown in figure. if the spring constant K = 9n*Nm ™", then the time

period of oscillation 1s
2,5 |20)00-030 5559 Y ETIRASE. 1900 D080, K Denad 9nNm ™ e

900 B3SO DN

K
3ke ke
K
K
Options :
15
1.4
3.14s
®
1414 s
3.
4 % 0.5s

Question Number : 92 Question Id : 4509387132 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Abody 1s executing simple harmonic motion. At a displacement ‘%' its potential energy 1s Ey and at

a displacement 'y’ its potential energy is E,. The potential energy E at a displacement (x +y) is
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A particle 15 projected from the surface of the earth with a velocity equal to twice the escape

velocity. When particle is very far from the earth. its speed would be.

2,8 8800 P00 3 2890 S BEos) Fod D8 20 TahadSd.

FAEMIOIA
& %620 2570 (00 T PGS &1 &eo o,
Options :

Ve
1. &

2V,

V3 V,



n A2 M

Question Number : 94 Question Id : 4509387134 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

A 4 kg stone attached at the end of a steel wire is being whirled at a constant speed 12 ms ™' in a

horizontal circle. The wire is 4 m long with a diameter 2.0 mm and young’s modules of the steel

is 2 X 10™ Nm ™2 The strain in the wire is.
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A spherical ball of radius 1 x 10™* m and of density 10* kgm™ falls freely under gravity through
a distance 'h’ before entering a tank of water. After entering water if the velocity of the ball does
not change, then '’ is

(The coefficient of viscosity of water 9.8 x 107° Nsm™2)
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A metal block 1s made from a mixture of 2.4 kg of aluminium. 1.6 kg of brass and 0.8 kg of copper.
The metal block 1s mitially at 20° ¢. If the heat supplied to the metal block is 44.4 calories. find
the fmal temperature of the block if specific heats of aluminium, brass and copper are

0.216,0.0917, 00931 cal. ke *C " respectively.
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3
An ideal gas is found to obey PV2 = constant during an adiabatic process. If such a gas initially

th
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at a temperature T 15 adiabatically compressed to 3 of its volume. then its final temperature s
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The condition dw = dg holds good in the following process
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Adiabatic process
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The efficiency of a Carnot engine found to increase from 25% to 40% on mcreasing the temperature

(T1) of source alone through 100 K. The temperature (T2) of the sink is given by
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Match the following (f 1s number of degrees of freedom)

Gases 2 value
Cy
A | Monoatomic I 4+f
341
B Diatomic (rigid) II 5/3
C Diatomic (non-rigid) III 7/5
D | Polyatomic IV 9/7
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When a wave enters into a rarer medium from a denser medium, the property of the wave which

remains constant 1s
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The focal length of the objective lens of a telescope 1s 30 cm and that of 1ts eye lens 1s 3 cm. It is
focussed on a scale at a distance 2 m from it. The distance of objective lens from eye lens to see
the clear image 1s
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Time: 0
In case of diffraction, if “a’ 15 a slit width and A is the wavelength of the incident light. then the

required condition for diffraction to take place 1s
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The electric field intensity (E) at a distance of 3 m from a uniform long straight wire of lmear

charge density 0.2 pCm ™" is
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When a parallel plate capacitor is charged up to 95V, its capacitance is C. If a dielectric slab of

thickness 2 mm 15 inserted between plates and distance between the plates 1s increased by 1.6 mm

such that the same potential difference is mamntained. The dielectric constant of the material (slab)
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The capacitance of an isolated sphere of radius ry 1s increased by 5 times. when it 1s enclosed by

an earthed concentric sphere of radius r,. The ratio of their radii 1s
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The charge ¢ (in coulomb) passing through a 10 Q resistor as a function of time t (in second) is

givenby ¢ = 3t% — 2t + 6. The potential difference across the ends of the resistor at time t = 5's
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A cell of emf 1.2 V and internal resistance 2 () is connected in parallel to another cell of emf 1.5V
and mternal resistance 1 (. If the like poles of the cells are connected together, the emf of the

combination of the two cells 1s
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A proton and an alpha particle moving with energies in the ratio 1: 4 enter a umform magnetic field

of 3T at right angles to the direction of magnetic field. The ratio of the magnetic forces acting on

the proton and the alpha particle is
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A charged particle moving along a straight line path enters a uniform magnefic field of 4 mT at

right angles to the direction of the magnetic field. If the specific charge of the charged particle 1s

8 x 107Ckg ™2, the angular velocity of the particle in the magnetic field is
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At a place the horizontal component of earth’s magnetic field is 3 X 107° T and the magnetic

declination is 30°. A compass needle of magnetic moment 18 Am? pointing towards geographic

north at this place experiences a torque of
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The current passing through a coil of 120 turns and inductance 40 mH 1s 30 mA. The magnetic
flux linked with the coil 1
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A resistor of resistance R. inductor of mductive reactance 2R and a capacitor of capacitive reactance

X, are connected in series to an a.c. source, If the series LCR circuit is in resonance, then the power

factor of the circuit and the value X, are respectively
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The rms value of the electric field of an electromagnetic wave emitted by a source is 660 NC™. The

average energy density of the electromagnetic wave 15
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The maximum wavelength of light which causes photoelectric emission from a photosensitive
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metal surface 1s Ao. Two light beams of wavelengths ?ﬂ and ?O wmcident on the metal surface. The

ratio of the maximum velocities of the emitted photoelectrons 1s
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The electrostatic potential energy of the electron in an orbit of hydrogen 1s —6.8 eV. The speed of

the electron m this orbit 1s (C 1s speed of light n vacuum)
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The surface areas of two nucleit are in the ratio 9 ¢ 25. The mass numbers of the nuclei are in the
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Pure silicon at 300 K has equal electron and hole concentration of 1.5 X 10 m™. If the hole

3

concentration increases to 3 X 10% m™2, then electron concentration in the silicon is
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Inn — p — ntransistor circuit, the collector current 1s 10 mA. If 95% of the electrons emitted reach

the collector. then the base current is nearly
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A transmitter of power 10 kW emuts radio waves of wavelength 500 m. The number of photons
emitted per second by the transmutter 1s of the order of
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The difference in radit between fourth and third Bohr orbits of He™ (in m) 15
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If Ao and 4 are respectively the threshold wavelength and wavelength of mcident light. the velocity

of photo electrons ejected from the metal surface 1s
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The correct order of atomic radii of N. F. AL Siis
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The correct order of covalent bond character of BCls. CCly. BeClh. LiCl 15
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In which of the following pairs. both molecules possess dipole moment?
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At T(K), the P, V and U,;,c0f 1 mole of an ideal gas were measured. The following graph 1s

obtained. What is its slope (m)?  (x-axis=PV: y-axis uﬁms, M= Molar mass)
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Three layers of liquid are flowing over fixed solid surface as shown below. The cotrect order of

velocity of liquid in these layers 1s
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A flask contains 98 mg of HaSO4. If 3.01 x 10 molecules of HySO4 are removed from the flask.

the number of moles of HySO4 remained in flask is (N = 6.02 x10%)
28 T & 98 mg © HS0s )0, o) 0T 301 X 10% HS04 BENHOD
FOR0NNS, TR} S DAOS B804 IO © omg N=6.02 x10%)

Options :

Ew 1at
1. %

o BB )
2. ¢

1.66 x 1073
3. %

995 x 1072

Question Number : 129 Question Id : 4509387169 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Identify the correct equation relating AH, AU and AT for 1 mole of an ideal gas from the following

(R = gas constant)

1 30O &8¢0 aroined$d AH, AU SO0 AT © 3655 H0205TR) Bews) MO

Nendderdy Hbodod

(R= 10 QT050)

Options :

1. %



(AH)? = AU + RAT

AH = (AU) 2+ RAT

2. #

AU =AH — RAT
3. ¢

AU=AH + RAT
4. %

Question Number : 130 Question Id : 4509387170 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The number of extensive properties in the following list 1s

enthalpy. density. volume. mnternal energy. temperature.

B, . o
808 TS &) TS ST HOPS
DO, O[5, NSNS0, 3058% 38, ¥ |iieh

Options :
,_’[_
1. %
5
2. %
3



Question Number : 131 Question Id : 4509387171 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
15 moles of Hy and 5.2 moles of I are mixed and allowed to attamn equilibrium at 773 K. At

equilibrium. the number of moles of HI 15 found to be 10, The equilibrium constant for the

dissociation of HI 18

Options :

2x1072
1.4

50

2x1071

5.0

Question Number : 132 Question Id : 4509387172 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



1

The solubility of barm phosphate of molar mass ‘M’ g mol ™ in water is x g per 100 mL at 298

a
K. Its solubility product is 1.08 X (ﬁ) X (10)P. The values of a and b respectively are

3rerd |55079 M g mol™ e 00D P08 [Heiahes AE3S 298 K ¢ 100

a
L 8 500, RTSeone 108X () X (10)° sons b denisen i

Options :

f
1. ®

5.7
2. ¥

B,
3. %

7.7
4. %

Question Number : 133 Question Id : 4509387173 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Hydrated sodium aluminium silicate 1s called

23| QFGB0HO TN N DETE) D DeDOEFH?
Options:
Calgon

SO
1. % '



Zeolite

2B08E
2.
Dead bumt plaster
36 26 b
3. %
Kaolinite
SO TE
4. %

Question Number : 134 Question Id : 4509387174 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Which one of the following statements is NOT correct about the compounds of alkaline earth

metals?

TS S5F0 Mot Sow080D (§08 S IO HBS 5 P?
Options :

Basic nature increases from Mg(OH)2 to Ba(OH)2

5O 2700 Mg(OH)z2 s 0E Ba(OH)2 50 D0 MDD

Thermal stability decreases from BeCO3 to BaCOs3

G ded 0 BeCO3 a0 BaCO3 50 ¢4
2.¥



Solubility of sulphates in water decreases from BeSO4 to BaSOy.

eSS DT (960D ed BeSOs <00 BasOs 50 ¢hH

Nitrates of these on heating give oxides

D3 TBed O A TR &3 )CD DG )cvEran

Question Number : 135 Question Id : 4509387175 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Consider the following standard electrode potentials (E® in volts) in aqueous solution

Element |M¥M |MM

Al —1.66 | +0.55

Tl +1.26 —0.34

Based on this data. which of the following statements 1s correct?

B0 |TSE0S (808 965789 DO 6 570 (E° in volts) HBHS0t0s0

Lredo |MTM | MM

Al —1.66 | +0.55

Tl +1.26 | —-034

2D ) BT 0T SEFEOMT (500 FEDOS DO NBIE?

Options:

TI* is more stable than AP

AP 80T T @HE QEIE



TI" is more stable than AI**

AP S0 TI' @HE DB SE

2. %

Al is more stable than AT

AP 0T Al" @58 DO DIE
3. %

TI™ is more stable than AI”

Al 08 TI* @96 DETSE
4. v

Question Number : 136 Question Id : 4509387176 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Which of the allotropic forms of carbon 1s aromatic in nature?

$EIS EFAroSTOS B8 DT SE3E O 5erd0 Gotnod?

Options:
Diamond
3005

1. %

Graphite
TR
2, ®

3.v



Buckminster fullerene

255 SNANO HOB®

coke

55

Question Number : 137 Question Id : 4509387177 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The enamel present on teeth becomes much harder due to the conversion of [3 Ca3(PO4) X] info

[3 Ca3(PO4);.Y]. What are X and Y?

D¢y (teeth) 3 SOT JDO ayeh nBocd KE3NchErdS T80 [3 CasPOs)y X].

a_

[3 Ca3(POg)y Y] 1T SO0, X, Y €0 2?
Options :

X =Ca(OH), Y =CaFz

1.¢

X = Ca(OH),. Y =CaClh
2. %

X = Ca(OH);. Y =NaCl
3. %

X =Ca0, Y=CaCl



Question Number : 138 Question Id : 4509387178 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Number of deactivating groups of the following 1s

-Cl1. -SO3H. -OH. -NH(C,Hs. -COOCHs3. -CH3

1808 73S R DHBRE Horsr*er HoDS

-Cl., -SOsH. -OH. -NHC,Hs, -COOCH;s. -CH3s

Options :

4
1. #

3
2.

2
3. %

1
4. %

Question Number : 139 Question Id : 4509387179 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



What are X and Y respectively in the following reaction sequence?

180B 075 5006S X 0B Y €0 ST D2

f\j’ Br
HBr g

C3Hg - X . -
(CgH5CO) 0, Na / dry ether
(&6 &&E6)

Options :

L O

1. %
Br ,-'_::f’ﬂ““«./"ﬂk“x
e L“:J”
2. %
z flx
Br
3. %
B a |
i
B e W ; S
4,

Question Number : 140 Question Id : 4509387180 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Identify the incorrect set from the following

1808 ¢35 58 50 DM (H8othodk
Options :

S102. covalent solid, insulator, high melting point

$102, DeDATTBRAD NSITTC0, 0EESD, ©HF [B26d TeIadn

MgO. covalent solid. insulator. high melting point

MgO. DeDTTBROLD $DINTF0, 22065850, eEE 3253 Fdain
2.

H>Oice), molecular solid. insulator. low melting point

HO(05) E0NITTE0, 206580, €96 (89256565 °adsdn

x
o

Ag(s). metallic solid. conductor. high melting point

Ag(s). S TOINCTY0, aPsTES0, 9B P3N

Question Number : 141 Question Id : 4509387181 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The following graph is obtained for vapour pressure (in atm) (on y-axis) and T (in K) (on x-axis)
for aqueous urea solution and water. What 1s the boiling pomt (in K) of urea solution?
(Atmospheric pressure = | atm)

FrHAST 20 [T HOANH NGO, 27 VS (atm ©F) (-850 )
HO T K 0F) x50 2) 0% 1508 [ 0od0d. crddsr s

2PR TS0 (K ©F) 07 (TF 58 S8eein 1.0 atm)

y
i

Options :

T3
3.¢

T4

Question Number : 142 Question Id : 4509387182 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Given below are two statements
Statement I: Liquids A & B form a non-1deal solution with negative deviation. The imteractions
between A and B are weaker than A-A & B-B mteractions
Statement II: In reverse osmosts, the applied pressure must be higher than the osmotic pressure of
solution

The correct answer is

1806 BOLD 52050 B SOFON

TIDST (e Ak B 6, DENIERR) SO0 BT 6 | TP
DGO, AHBOD B € &:55:95 9856 A-A & B-B © 5055 850
50T OO SO

53 II: G5(68)05) | ST DIBEIOS, (a0 (5arE)eded D)BeS0 0T 03
TR, SOVTE0DSB

BN TP

Options :

Both Statement-I and Statement-II are correct

551 DO 75 3-IT TOCH® O8N

Both Statement-I and Statement-II are not correct

o §E-T o0 B O 37§20 E-IT BOCAT DO QD) 56
2. %

Statement-I 1s correct but Statement-I1 is not correct

551 QDA 5 5 5-IT LB DAE 5°¢DH

Statement-I is not correct but Statement-II 1s correct

D551 ABADAE 5°CH 5% 75D S-IT DO DD
4.9



Question Number : 143 Question Id : 4509387183 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The standard reduction potentials of 2H/Hy. Co>/Cu, Zo”"/Zn and NO3., H/NO are 0.0, 0.34.
-0.76 and 0.97 V respectively. Identify the correct statements from the following

I H does not oxidize Cu to Cu””

. Znreduces Cu™ to Cu

I NOj oxidizes Cuto Cu*
2H /). Cu/Cu, Zn*/Zn B0 NO3, H/NO © |2):3°ed 500808 45e0 3T 0.0,
0.34, - 0.76 B0 0.97 V. 1806 arB3S 8003 500 thBotsod

L CudCoX e, H @880 Tt

L Cu¥QCut, Zn, 5 0HEGE0 THOTH

ML CudCu® T, NO; e35)566a050 mRothH

Options:
L II. only
I IL 507 eha0
1. %
I II. IIT
2.
I. IIT only
I, IIT o307 68530
3. % )

4. %



I1. 11T only
I1. TII o55° €5 a0

Question Number : 144 Question Id : 4509387184 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

A — Pis a zero order reaction. At 298 K the rate constant of the reaction is 1 x 107 mol L s

Tnitial concentration of ‘A’ is 0.1 mol L, What is the concentration of ‘A’ after 10 sec?

A— D 2,8 ) (5208 1985, 208 K 256 B8 25035 DD V008 1% 107 mol L5, <A

SEMedeh 0.1 mol L. 10 DEDH) ebchhared <A’ Trehed 0eh 2
Options :
0.09 mol L

1.4

0.099 mol L!

2. ®
~ 0.087Tmol L™

3. ®
0.011 mol L

4, %

Question Number : 145 Question Id : 4509387185 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Match List — I with List - I

List-I List-II
[ | Colloidal antimony Kalaazar
II | Silver sol Intermuscular mnjection
I | Milk of magnesia Eye lotion
IV | Gold sol Stomach disorder

Correct answer is

DR -1 O - I& BHIGTHE

O -1 ey - II
[ | 3083300 Ferond Lererd
I | o366 50650058 R0BEQ
I | 26y, 55 iy o5 063 S'AS
vV 55@5 I 50305 3 geh
Q00D 236372
Options:
I-B. I-A. II-C. IV-D
1.%
I-A, I[-C. 0O-D. IV-B
2. %
-A. II-B. II-C. IV-D
3. %
-A, I-D. 0I-B. IV-C
4. %

Question Number : 146 Question Id : 4509387186 Display Question Number : Yes Is Question




Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Identify the method of preparation of a colloidal sol from the following

8o® ¢3S o & S $0HE HDBJ HBOTHN
Options :
Ultrafiltration

Q58 2 AQOS0

1. %
Peptisation
29 ¥6890
2.9
Dialysis
CHAITEIVR
3 %
Electro-dialysis
DN g OOV
4. %

Question Number : 147 Question Id : 4509387187 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The flux used in the preparation of wrought iron from cast iron in reverberatory furnace is

836300 SOWES §Feh AW 0B Teh Ao BATFBS T |Se550

Options :

1. %



S102

CaCO;3
2. %

e
3. %

NaCN
4. %

Question Number : 148 Question Id : 4509387188 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

P,0; +H,0-X

Red Py +alkali = Y

X. Y are oxoacids of phosphorous. The number of P — OH bonds in X. Y respectively 1s

P,0; +H,0- X

O P, + 500 - Y

X, Y 00 37080 e38°) &3ai7e. X, Y ©65 P — OH 20076 0D oSG

Options :
1.4
1. %
4.1
2. %
2.4



1981

Question Number : 149 Question Id : 4509387189 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Which of the following occurs with KMnQOy in neutral medium?

B3 AIFIE0 € KMnOs & 1808 a3 O 2350hehnodd?
Options:

Oxidation of oxalate 1on

es(i S eoclr® es8 580

1. %
Precipitation of sulphur from hydrogen sulphide
WEBS IBIG OB d3I0 @53 Do
2 %
Oxidation of Fe?" to Fe**
FeX* oG Fe* %0 es8)8800
3. ®
Oxidation of 1odide to 1odate
BB GH, a3rme) m esdyEde0
4. &

Question Number : 150 Question Id : 4509387190 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Cobalt (III) chloride forms a green coloured complex ‘X' with NHs. Number of moles of AgCl

formed when excess of AgNOj solution 15 added to 100 mL of 1M solution of X' is
NH: & Sor) (1) $D6 e5:5ed B0t o X 0 03FR) ). X By

100 mL © 1M [T3ETR8 AgNOs |TETR)), ©AS0T $ODIRCH I8 Agll 7O ©

0D

Options :

0.3
1. %

0.2
2. %

0.1
3.v

1
4, %

Question Number : 151 Question Id : 4509387191 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The correctly matched set of the following 1s

1B0B ¢33 BT 26d TONDAS DS
Options :

Polystyrene — copolymer - thermoplastic

O VOS — Frdob — 3PS



Bakelite — addition polymer - thermosetting

2EBE) — D0EDOD OO — e G

2. %

Nylon 6 — Homopolymer - fibre

TEFS 6 — D30 aPONE - FH
3.¢

Buna-N — Homopolymer - elastomer

2D $SN — D235 PG — Derdfend
4, ®

Question Number : 152 Question Id : 4509387192 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Identity the correctly matched set from the following

808 a3°¢3 DOS HOMT 2368 TOHDGBD He3 HBCHOG

Options :

Vitamin A — Water soluble — Xerophthalmia

DEDE A — DeE3S E8TO — S8 05

1. %

Vitamin Bg — Water soluble — Scurvy

DEDS Bs— DE3S 6T - 98¢
2. %

3.¢



Vitamin D — fat soluble - Rickets
DEVS D-5H3S 4616 — 8367

Vitamin C — fat soluble - convulsions

DEIDS € — 5955 E8TE — Seando Biso
4, %

Question Number : 153 Question Id : 4509387193 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
Given below are two statements
I Cytosine and guanine are formed in equal quantities in DNA hydrolysis
II.  Adenme and uracil are formed in equal quantities in RNA hydrolysis
The correct answer 1s
1505 DO a7 5505E0 Bod SRTON
L DNAZONINRS VSRS B0 TS e H8reaoeS Mo
I RNA 2Z0d3a80S AT H00N hoedd ddard Hosrpod

i

28O0

W

DA QTTT0
Options :

Statements I . IT both are correct

S 5MseN L I B0 800D

Statements I . IT both are imncorrect

S 5205e0 I I DO Q8NN 5%



Statement I 18 correct but statement IT 1s incorrect

58 T ABQADAE 5% 758 I QB 5°¢%

Statement I 1s incorrect but statement II 1s correct

S T BN 5°CN 57 a3 §DE I SBADOE
4. %

Question Number : 154 Question Id : 4509387194 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Identify the correctly matched pair from the following

B0E €3 0 SO 2365 TOLDED B0 HBohodk

Options :
Me OH
=
S s — Antibiotic
cl IO e ATA TRV RAL]
Me
1. %
COONa
S
I Food Preservative
S e85 5T HOBE 0
2. ¥



Salt of propanoic acid — Antioxidant

PO STonE @3:D0 TWE) 05690 — OSroe3esd \ESeS

WVeronal — Analgesic

SO — DO 25
4, %

Question Number : 155 Question Id : 4509387195 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
What are Y and Z respectively in the following reaction sequence?
1808 t90°8 1500 S Y sHOAE Z €0 SEIT DD?

Cl
HNO;

> X - 7

Cone. H,SO ‘
n?éf:L 2 (major product)

(05T by 0

Options:

OH
(1) NaOH. 443 K. H ™ :

" NO;

2.¥



OH

(i) NaOH. 443 K. (i) H :

O,N
OH
H,0. A
0N
3. %
OH
H,0. /\
NO,
4, %

Question Number : 156 Question Id : 4509387196 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Hydrolysis of an alkyl bromide X (CsHyBr) follows first order kinetics. Reaction of X with Mg in
dry ether followed by treatment of D70 gave Y. What is Y?
28 &B6 DB X (CsHiBr) B8 20DTNE (NG (Srod (188 7))
FED0E. PG S50 S X b Mg & 04055 200 $ared D& DTN ¥
AN AR ENAY

Options :



1. %
)\/\D
2. %
,f“l‘\]:r_,—
3. ®
D
4, &

Question Number : 157 Question Id : 4509387197 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
An alcohol X (C4H100) does not give turbidity with conc. HCI and ZnCly at room temperature, X

on reaction with reagent Y gives Z. What are X. Y and Z respectively?
2,8 €303 X (C4H0) 116 55 716b o3¢ 1Th HOL B0 ZnCh o0e98d 565,
X, 50850 Y & 085506 Z oD 8106, X, Y D0 Z 00 BT 0?

Options :

1.9



OH. KMnO,/H".

/\/ . co /\(

OH

j\ OH. Cu, 573K /]\

Question Number : 158 Question Id : 4509387198 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Which of the following sets of reagents convert toluene to benzaldehyde?

208 O SE50 DEN DS & B0 TR T SFETON?

-
.

A. CLy|hv; H,0,4 C. KMnO,|OH"; H*
B. ClEIFE‘, HED D. CI‘UZC12|CSZ; H30+

Options:

B,C.D
A C

A.D



Question Number : 159 Question Id : 4509387199 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

What are X and Y respectively in the following reactions?

b o o
8060 BG5S X DA Y €0 AT o7
O( i
COOH COOC,H,

X
+GHO0H LHO

Cocl 00C,H,

€
+(C,H.OH —&"-
e +HCI

Options :
H. B
1. %
H. Pyridine
H. DOAS
2. ¥

Pyridine. H~™
DL, H



Pyridine.  Pyridine

DOGR.  DBES

Question Number : 160 Question Id : 4509387200 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
TUPAC names of the following compounds A and B are

806 dab¥ren A HOC) B © [UPAC )

NH, N (CH;),
A /\/ B.
Cl
Options :
A = But-3-en-2-amine; B = 4-N. N-dimethylaminochlorobenzene

A= 25°56)-3-880-2-0a00; B =4-N, N-BZO Deed 50 23088

1. #
A = But-1-en-3-amine; B = 4-N. N-dimethylaminochlorobenzene
A=20°563-1-580-3-080; B =4-N, N-BUOBO 0’ 80 B0ES
2. #
A = But-1-en-3-amine; B = 4-Chloro-N. N-dimethylbenzenamine
A=27560-1-58-3-Q0®; B=4-56-N. N-BOBS BoBINS
3. %

A = But-3-en-2-amine: B = 4-Chloro-N. N-dimethylbenzenamine

A =207563-3-888-2-00&; B =4-55-N. N-BDNZO BoBSNS
4.v






